

International Journal of Statistics and Applied Mathematics

ISSN: 2456-1452
 Maths 2019; 4(5): 37-44
 © 2019 Stats & Maths
 www.mathsjournal.com
 Received: 22-07-2019
 Accepted: 24-08-2019

S Uygun
 Department of Mathematics,
 Science and Art Faculty,
 Gaziantep University,
 Gaziantep, Turkey

The exponential generating functions of jacobsthal and jacobsthal lucas identities

S Uygun

Abstract

In this study, we use exponential generating functions for Jacobsthal and Jacobsthal Lucas sequences to derive new sum formulas for Jacobsthal and Jacobsthal Lucas sequences.

Keywords: Jacobsthal numbers, exponential generating functions

AMS Classifications: 11B39, 11B83, 15A24, 15B36

Introduction

Generating functions are one of the most useful inventions in discrete mathematics. Roughly speaking, generating functions transform problems about sequences into problems about functions. The ordinary generating function for the infinite sequence $\{g_0, g_1, g_2, \dots\}$ is the power series $G(x) = g_0 + g_1 x + g_2 x^2 + \dots$. The generating functions are also very important for integer sequence with no doubt. In [5], Carlitz gave some properties of the generating functions. In [1, 4], the authors gave some properties about generating functions and ordinary generating functions for identities about Fibonacci and Lucas numbers. In [2], Gould has studied generalized generating functions as products of powers of Fibonacci numbers. In [3], Harold, found Fibonacci and Lucas identities and generating functions, in his master thesis. In [6], Church established some exponential generating functions established Fibonacci and Lucas identities. In [8], Kolodner investigated a generating function associated with generalized Fibonacci numbers. In this paper we investigate some properties of Jacobsthal and Jacobsthal Lucas sequences by using exponential generating functions. Integer sequences have been an important research subject for many of papers. We can meet integer sequences many of area architecture, nature, art, body of human. The oldest known integer sequences occur Fibonacci and Lucas numbers which are defined as $f_n = f_{n-1} + f_{n-2}$; $f_0 = 0, f_1 = 1$ and

$l_n = l_{n-1} + l_{n-2}$; $l_0 = 2, l_1 = 1$ for $n \geq 2$; By changing the recursion formula for Fibonacci and Lucas numbers, Jacobsthal and Jacobsthal Lucas have been first defined by German mathematician Ernst Jacobsthal. Horadam, in [3] exhibited some identities of Jacobsthal and Jacobsthal Lucas numbers

Jacobsthal and Jacobsthal Lucas numbers are given by the recurrence relations $j_n = j_{n-1} + 2j_{n-2}$; $j_0 = 0, j_1 = 1$ and $c_n = c_{n-1} + 2c_{n-2}$; $c_0 = 2, c_1 = 1$ for $n \geq 2$ respectively in [10]. The characteristic equation of recurrence relations $x^2 - x - 2 = 0$, with roots $\alpha = 2, \beta = -1$.

Binet's formulas allow us to express the Jacobsthal numbers and Jacobsthal Lucas numbers in function of the roots α, β are defined by

$$j_n = \frac{\alpha^n - \beta^n}{\alpha - \beta} = \frac{2^n - (-1)^n}{3}, c_n = \alpha^n + \beta^n = 2^n + (-1)^n \quad (1)$$

The ordinary generating functions of these sequences are

Correspondence
 S Uygun
 Department of Mathematics,
 Science and Art Faculty,
 Gaziantep University,
 Gaziantep, Turkey

$$\sum_{k=0}^{\infty} j_k x^k = \frac{x}{1-x-2x^2}$$

$$\sum_{k=0}^{\infty} c_k x^k = \frac{2-x}{1-x-2x^2}$$

By using the expansion of Maclaurin series of the exponential function we have

$$e^{\alpha t} = 1 + \frac{\alpha t}{1!} + \frac{(\alpha t)^2}{2!} + \frac{(\alpha t)^3}{3!} + \frac{(\alpha t)^4}{4!} + \dots + \frac{(\alpha t)^n}{n!} + \dots$$

And

$$\frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta} = (1-1) + \frac{(\alpha - \beta)t}{1!} + \frac{(\alpha^2 - \beta^2)t^2}{2!} + \frac{(\alpha^3 - \beta^3)t^3}{3!} + \frac{(\alpha^4 - \beta^4)t^4}{4!} + \dots$$

So that, we obtain the exponential generating function as

$$\frac{e^{2t} - e^{-t}}{3} = \sum_{n=0}^{\infty} j_n \frac{t^n}{n!} \tag{2}$$

$$e^{2t} + e^{-t} = \sum_{n=0}^{\infty} c_n \frac{t^n}{n!} \tag{3}$$

In [6], the well known double sum property is given as

$$\sum_{n=0}^{\infty} \sum_{k=0}^{\infty} F(k, n) = \sum_{n=0}^{\infty} \sum_{k=0}^n F(k, n-k).$$

In [9], the authors found the following properties about Jacobsthal and Jacobsthal Lucas numbers

$$\sum_{k=0}^n \binom{n}{k} j_k = 3^{n-1},$$

$$\sum_{k=0}^n \binom{n}{k} (-2)^{n-1} j_k = 3^{n-1},$$

$$\sum_{k=0}^n \binom{n}{k} j_k c_{n-k} = 2^n j_n.$$

Lemma 1 Let $A(t) = \sum_{n=0}^{\infty} a_n \frac{t^n}{n!}$ and $B(t) = \sum_{n=0}^{\infty} b_n \frac{t^n}{n!}$ then

$$A(t)B(t) = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} a_k b_{n-k} \right) \frac{t^n}{n!} \tag{4}$$

And

$$A(t)B(-t) = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n (-1)^{n-k} \binom{n}{k} a_k b_{n-k} \right) \frac{t^n}{n!}$$

Exponential Generating Functions For Jacobsthal Identities

The characteristic equation of recurrence relations of Jacobsthal and Jacobsthal Lucas numbers are $x^2-x-2=0$, with roots $\alpha=2, \beta=-1$. Useful algebraic properties of α, β are

$$\alpha\beta = -2, \alpha+\beta=1, \alpha-\beta=3 \tag{5}$$

$$\alpha^n = \alpha j_n + 2 j_{n-1}, \alpha^2=\alpha+2$$

Theorem 2 For n positive integers, the following identities are obtained as

$$\sum_{k=0}^n \binom{n}{k} j_k 2^{n-k} = j_{2n}$$

$$\sum_{k=0}^n \binom{n}{k} c_k 2^{n-k} = c_{2n}$$

Proof: If we choose $A(t) = \frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta} = \sum_{n=0}^{\infty} j_n \frac{t^n}{n!}$ and $B(t) = e^{2t} = \sum_{n=0}^{\infty} \frac{(2t)^n}{n!}$ in that form, then from (5)

$$\begin{aligned} A(t)B(t) &= \left(\frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta} \right) (e^{2t}) = \left(\frac{e^{(\alpha+2)t} - e^{(\beta+2)t}}{\alpha - \beta} \right) = \left(\frac{e^{\alpha^2 t} - e^{\beta^2 t}}{\alpha - \beta} \right) \\ &= \sum_{n=0}^{\infty} \frac{(e^{\alpha^2 t})^n - (e^{\beta^2 t})^n}{\alpha - \beta} \frac{t^n}{n!} = \sum_{n=0}^{\infty} j_{2n} \frac{t^n}{n!} = \sum_{n=0}^{\infty} j_{2n} \frac{t^n}{n!} \end{aligned}$$

By using 4, we have

$$\begin{aligned} A(t)B(t) &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} \frac{\alpha^k - \beta^k}{\alpha - \beta} 2^{n-k} \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} j_k 2^{n-k} \right) \frac{t^n}{n!} \end{aligned}$$

By the equality of the above series, the result is obtained. Similarly let $A(t) = e^{\alpha t} + e^{\beta t}$ and $B(t) = e^{2t}$

$$\begin{aligned} A(t)B(t) &= e^{(\alpha+2)t} + e^{(\beta+2)t} \\ &= \sum_{n=0}^{\infty} \frac{(e^{\alpha^2 t})^n + (e^{\beta^2 t})^n}{n!} \sum_{n=0}^{\infty} c_{2n} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} (\alpha^k + \beta^k) 2^{n-k} \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} c_k 2^{n-k} \right) \frac{t^n}{n!} \end{aligned}$$

Theorem 3 For n positive integers,

$$\sum_{k=0}^n \binom{n}{k} (-1)^{n-k} j_k = (-1)^{n+1} j_n$$

$$\sum_{k=0}^n \binom{n}{k} (-1)^{n-k} c_k = (-1)^n c_n$$

Proof: Assume that $A(t) = \frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta}$ and $B(t) = e^{-t}$, then the properties of α, β

$$\begin{aligned} A(t)B(t) &= \left(\frac{e^{(\alpha-1)t} - e^{(\beta-1)t}}{\alpha - \beta} \right) = \left(\frac{e^{-\beta t} - e^{-\alpha t}}{\alpha - \beta} \right) \\ &= \sum_{n=0}^{\infty} \frac{(-\beta t)^n - (-\alpha t)^n}{(\alpha - \beta)n!} = \sum_{n=0}^{\infty} (-1)^{n+1} j_n \frac{t^n}{n!} \end{aligned}$$

From the multiplication of series, we have

$$\begin{aligned} A(t)B(t) &= \sum_{n=0}^{\infty} j_n \frac{t^n}{n!} \sum_{n=0}^{\infty} \frac{(-1)^n t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} \frac{\alpha^k - \beta^k}{\alpha - \beta} (-1)^{n-k} \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} (-1)^{n-k} j_k \right) \frac{t^n}{n!} \end{aligned}$$

By the equality of the above series, the result is obtained. The other equality can be proved by the same method.

Theorem 4 For n positive integers,

$$\sum_{k=0}^n (-2)^{n-k} \binom{n}{k} j_{2k} = j_n$$

$$\sum_{k=0}^n (-2)^{n-k} \binom{n}{k} c_{2k} = c_n$$

Proof: Let $A(t) = \frac{e^{\alpha^2 t} - e^{\beta^2 t}}{\alpha - \beta}$ ve $B(t) = e^{-2t}$, then the properties of α, β

$$A(t)B(t) = \left(\frac{e^{(\alpha^2-2)t} - e^{(\beta^2-2)t}}{\alpha - \beta} \right) = \left(\frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta} \right) = \sum_{n=0}^{\infty} j_n \frac{t^n}{n!}$$

By using 4, we have

$$\begin{aligned} A(t)B(t) &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} \frac{\alpha^{2k} - \beta^{2k}}{\alpha - \beta} (-2)^{n-k} \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} (-2)^{n-k} j_{2k} \right) \frac{t^n}{n!} \end{aligned}$$

By the equality of the series, we easily see the desired result.

Theorem 5

$$\sum_{k=0}^n \binom{n}{k} j_k c_{n-k} = 2^n j_n$$

Proof: Assume that $A(t) = \frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta}$ and $B(t) = e^{\alpha t} + e^{\beta t}$ then

$$\begin{aligned} A(t)B(t) &= \left(\frac{e^{2\alpha t} - e^{2\beta t}}{\alpha - \beta} \right) = \sum_{n=0}^{\infty} 2^n j_n \frac{t^n}{n!} \\ A(t)B(t) &= \sum_{n=0}^{\infty} \sum_{k=0}^n \left(\binom{n}{k} \frac{\alpha^k - \beta^k}{\alpha - \beta} (\alpha^{n-k} + \beta^{n-k}) \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} j_k c_{n-k} \right) \frac{t^n}{n!} \end{aligned}$$

Theorem 6

$$\sum_{k=0}^n \binom{n}{k} j_k j_{n-k} = \frac{1}{9} (2^n c_n - 2)$$

Proof: Assume that $A(t) = B(t) = \frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta}$

$$\begin{aligned} A(t)B(t) &= \left(\frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta} \right)^2 = \frac{1}{9} (e^{2\alpha t} + e^{2\beta t} - 2e^t) \\ &= \sum_{n=0}^{\infty} (2^n c_n - 2) \frac{t^n}{n!} \end{aligned}$$

By using 4, we have

$$\begin{aligned} A(t)B(t) &= \sum_{n=0}^{\infty} \sum_{k=0}^n \left(\binom{n}{k} \left(\frac{\alpha^k - \beta^k}{\alpha - \beta} \right) \left(\frac{\alpha^{n-k} - \beta^{n-k}}{\alpha - \beta} \right) \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} j_k j_{n-k} \right) \frac{t^n}{n!} \end{aligned}$$

Theorem 7

$$\sum_{k=0}^n \binom{n}{k} c_k c_{n-k} = 2^n c_n + 2$$

Proof: Assume that $A(t) = B(t) = e^{\alpha t} + e^{\beta t}$,

$$A(t)B(t) = (e^{\alpha t} + e^{\beta t})^2 = e^{2\alpha t} + e^{2\beta t} + 2e^t$$

$$= \sum_{n=0}^{\infty} (2^n c_n + 2) \frac{t^n}{n!}$$

By using 4, we have

$$\begin{aligned} A(t)B(t) &= \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} (\alpha^k + \beta^k) (\alpha^{n-k} + \beta^{n-k}) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} c_k c_{n-k} \right) \frac{t^n}{n!} \end{aligned}$$

Theorem 8 Let m, n any positive integers

$$\sum_{k=0}^n \binom{n}{k} j_{mk} c_{mn-nk} = 2^n j_{mn}$$

Proof: If we choose $A(t) = \frac{e^{\alpha^m t} - e^{\beta^m t}}{\alpha - \beta}$ and $B(t) = e^{\alpha^m t} + e^{\beta^m t}$ in that form, we obtain

$$\begin{aligned} A(t)B(t) &= \frac{e^{2\alpha^m t} - e^{2\beta^m t}}{\alpha - \beta} \\ &= \sum_{n=0}^{\infty} 2^n j_{mn} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} j_{mk} c_{mn-nk} \right) \frac{t^n}{n!} \end{aligned}$$

Theorem 9 Let m, n any positive integers

$$\sum_{k=0}^n \binom{n}{k} j_{mk} j_{mn-nk} = \frac{1}{9} (2^n c_{mn} - 2c_m^n)$$

Proof: If we choose $A(t) = B(t) = \frac{e^{\alpha^m t} - e^{\beta^m t}}{\alpha - \beta}$ as like and use (4), we have

$$\begin{aligned} A(t)B(t) &= \frac{1}{(\alpha - \beta)^2} \sum_{n=0}^{\infty} \frac{(\alpha^{mn} - \beta^{mn}) t^n}{n!} \sum_{n=0}^{\infty} \frac{(\alpha^{mn} - \beta^{mn}) t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} j_{mk} j_{mn-nk} \right) \frac{t^n}{n!} \\ A(t)B(t) &= \left(\frac{e^{\alpha^m t} - e^{\beta^m t}}{\alpha - \beta} \right)^2 = \frac{1}{9} (e^{2\alpha^m t} + e^{2\beta^m t} - 2e^{(\alpha^m + \beta^m)t}) \\ &= \frac{1}{9} \sum_{n=0}^{\infty} (2^n c_{mn} - 2c_m^n) \frac{t^n}{n!} \end{aligned}$$

Theorem 10 Let m, n any positive integers

$$\sum_{k=0}^n \binom{n}{k} c_{mk} j_{m(n-k)} = 2^n j_{mn}$$

Proof: If we choose $A(t) = e^{\alpha^m t} + e^{\beta^m t}$ and $B(t) = \frac{e^{\alpha^m t} - e^{\beta^m t}}{\alpha - \beta}$ as like and use (4), we have

$$\begin{aligned} A(t)B(t) &= \sum_{n=0}^{\infty} \frac{(\alpha^{mn} + \beta^{mn})t^n}{n!} \left(\frac{1}{(\alpha - \beta)^2} \sum_{n=0}^{\infty} \frac{(\alpha^{mn} - \beta^{mn})t^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} c_{mk} j_{m(n-k)} \right) \frac{t^n}{n!} \\ A(t)B(t) &= \frac{e^{2\alpha^m t} - e^{2\beta^m t}}{\alpha - \beta} = \sum_{n=0}^{\infty} \frac{2^n (\alpha^{mn} - \beta^{mn})t^n}{(\alpha - \beta)n!} = \sum_{n=0}^{\infty} 2^n j_{mn} \frac{t^n}{n!} \end{aligned}$$

Theorem 11 Let m, n any positive integers

$$\sum_{k=0}^n \binom{n}{k} c_{mk} c_{mn-mk} = 2^n c_{mn} - 2c_m^n$$

Proof: Let $A(t) = B(t) = e^{\alpha^m t} + e^{\beta^m t}$, then by the product of the series we obtain

$$\begin{aligned} A(t)B(t) &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} c_{mk} c_{mn-mk} \right) \frac{t^n}{n!} \\ A(t)B(t) &= (e^{\alpha^m t} + e^{\beta^m t})^2 = e^{2\alpha^m t} + e^{2\beta^m t} - 2e^{(\alpha^m + \beta^m)t} = \sum_{n=0}^{\infty} (2^n c_{mn} - 2c_m^n) \frac{t^n}{n!} \end{aligned}$$

Theorem 12 Let n, r any positive integers then

$$\sum_{k=0}^n \binom{n}{k} 2^{n-k} j_{k+r} = j_{2n+r}$$

Proof: If we choose $A(t) = \frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta}$ then the r th derivative with respect to t is olarak seçilir $D_t^r A(t) = \sum_{k=0}^n \binom{n}{k} a_{n+r} \frac{t^n}{n!}$.

So that and for $B(t) = e^{2t}$, we have

$$\begin{aligned} D_t^r A(t)B(t) &= e^{2t} D_t^r \left(\frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta} \right) = \frac{\alpha^r e^{(\alpha+2)t} - \beta^r e^{(\beta+2)t}}{\alpha - \beta} \\ &= \frac{\alpha^r e^{\alpha^2 t} - \beta^r e^{\beta^2 t}}{\alpha - \beta} = \sum_{n=0}^{\infty} j_{2n+r} \frac{t^n}{n!} \\ D_t^r A(t)B(t) &= \sum_{n=0}^{\infty} a_{n+r} \frac{t^n}{n!} \sum_{n=0}^{\infty} \frac{2^n t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} j_{k+r} 2^{n-k} \right) \frac{t^n}{n!} \end{aligned}$$

Theorem 13 Let m, n, r any positive integers then

$$\sum_{k=0}^n \binom{n}{k} j_{4mk+r} 2^{2m(n-k)} = c_{2m}^n j_{2m+4mr}$$

Proof: If we choose $A(t) = \frac{e^{\alpha^{4m}t} - e^{\beta^{4m}t}}{\alpha - \beta}$ and $B(t) = e^{2^{2m}t}$, we have

$$\begin{aligned} & \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} j_{4mk+r} 2^{2m(n-k)} \right) \frac{t^n}{n!} = D_t^r A(t)B(t) \\ &= \frac{1}{\alpha - \beta} \left[(\alpha^{4m})^r e^{(\alpha^{4m}t)} - (\beta^{4m})^r e^{(\beta^{4m}t)} \right] e^{(2^{2m})t} \\ &= \frac{\alpha^{4mr}}{\alpha - \beta} e^{(\alpha^{4m+2^{2m}}t)} - \frac{\beta^{4mr}}{\alpha - \beta} e^{(\beta^{4m+2^{2m}}t)} \\ &= \frac{\alpha^{4mr}}{\alpha - \beta} e^{(\alpha^{4m+(-\alpha\beta)^{2m}}t)} - \frac{\beta^{4mr}}{\alpha - \beta} e^{(\beta^{4m+(-\alpha\beta)^{2m}}t)} \\ &= \frac{\alpha^{4mr}}{\alpha - \beta} e^{\alpha^{2m}(\alpha^{2m+\beta^{2m}}t)} - \frac{\beta^{4mr}}{\alpha - \beta} e^{\beta^{2m}(\alpha^{2m+\beta^{2m}}t)} \\ &= \frac{1}{\alpha - \beta} \left[\alpha^{4mr} e^{\alpha^{2m}C_{2m}t} - \beta^{4mr} e^{\beta^{2m}C_{2m}t} \right] \\ &= \sum_{n=0}^{\infty} \frac{\alpha^{2mn+4mr} c_{2m}^n t^n}{\alpha - \beta n!} - \sum_{n=0}^{\infty} \frac{\beta^{2mn+4mr} c_{2m}^n t^n}{\alpha - \beta n!} = \sum_{n=0}^{\infty} c_{2m}^n J_{2mn+4mr} \frac{t^n}{n!} \\ & [D_t^r A(t)]B(t) = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} j_{4mk+r} 2^{2m(n-k)} \right) \frac{t^n}{n!} \end{aligned}$$

From the equality of the results, the proof is completed.

References

1. Hoggatt VE Jr, Lind DA. A Primer for the Fibonacci Numbers, Part VI, Fibonacci Quarterly. 1967; (5):445-460.
2. Gould HW. Generating Functions for Products of Powers of Fibonacci Numbers, Fibonacci Quarterly. 1963; (2):1-16.
3. Harold T Jr. Leonard, Fibonacci and Lucas Identities and Generating Functions, Master's Thesis, San Jose State College, July, 1969.
4. Horadam AF. Jacobsthal Representation Numbers, The Fibonacci Quarterly. 1996; 34(1):40-54.
5. Carlitz L. Generating Functions, Fibonacci Quarterly. 1969; 7(4):359-393.
6. Church CA, Bicknell M. Exponential Generating Functions for Fibonacci Identities, Fibonacci Quarterly. 1973; 11(3):275-281.
7. Hoggatt VE. Some Special Fibonacci and Lucas Generating Functions Functions, Fibonacci Quarterly. 1971; 9(2):121-133.
8. Kolodner I. On a Generating Function Associated with Generalized Fibonacci Numbers, Fibonacci Quarterly. 1965; 3(4):272-279.
9. Cook CK, Bacon MR. Some Identities for Jacobsthal and Jacobsthal Lucas numbers Satisfying Higher Order Recurrence Relations, Annales Mathematicae et Informaticae. 2013; 41:27-39.
10. Koshy T. Fibonacci and Lucas Numbers with Applications, John Wiley and Sons Inc., NY, 2001.